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QUESTION 1

After configuring FabricPath, the following appears in the syslog: 

%STP-2-L2GW_BACKBONE_BLOCK: L2 Gateway Backbone port inconsistency blocking port port-channel100 on
VLAN0010. 

What is the cause of this message? 

A. STP must be disabled; message indicates that STP is enabled. 

B. STP is misconfigured; root guard must be disabled. 

C. An inferior BPDU is received on a Cisco FabricPath edge port. 

D. A superior BPDU is received on a Cisco FabricPath edge port. 

Correct Answer: D 

 

QUESTION 2

Overlay Transport Virtualization (OTV) join interface is used to source the OTV encapsulated traffic and send it to the
Layer 3 domain of the data center network. 

Which statements are true about OTV join interface? (Choose three.) 

A. Join interface is a Layer 3 entity, and with the Cisco NX-OS release 6.0, it can only be defined as a physical interface,
physical subinterface, Layer 3 port channel, or Layer 3 port channel subinterface. 

B. A single join interface can be defined and associated with a given OTV overlay. 

C. Multiple overlays can also share the same join interface. 

D. Join interface can be a loopback interface. 

E. The join interface is a Layer 3 entity that can be defined as a physical interface but not as a logical one. 

Correct Answer: ABC 

 

QUESTION 3

Refer to the Exhibit. 
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Which two statements are true? (Choose two.) 

A. FC Zoning is going to be enabled automatically after the template is created. 

B. With the current fabric ID configuration on the vHBA template, cannot see the new VLAN 

C. All the required values have been configured in the vHBA template; after the VLAN is created, you can press OK
start using the template. 

D. To modify the vHBA from the service profile in the future; you first must unbind the template from the vHBA fc0
template. 

E. VSAN and VLAN ID are assigned according to best practices. 

Correct Answer: BD 

 

QUESTION 4

Which statement describes SNMP functionality in Cisco NX-OS Software? 

A. NX-OS Software supports one instance of SNMP globally for all VDCs; however, MIB counters are collected and
reported individually per VDC. 

B. SNMP must be enabled with the feature snmp command before any SNMP configuration is possible. 

C. SNMP is always enabled by default in NX-OS Software and cannot be disabled. 

D. NX-OS Software supports 3DES and AES for SNMPv3 message encryption. 

E. SNMP always uses the default VRF on the Cisco Nexus 7000 Series Switches. 

Correct Answer: D 
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QUESTION 5

Refer to the components below. 

Cisco UCS 6100 Fabric Interconnect Cisco Nexus 1000V Cisco UCS 5100 Blade Chassis 

Which data center design layer contains these components? 

A. the Virtualization layer 

B. the Management layer 

C. the Compute layer 

D. the Services layer 

Correct Answer: C 
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